
 

  

  

 

BE120−1A_1

For any colour, YW=100, P60
[max (m) chromatic value?], 
chromaticity diagram (x, y)

0,0 0,2 0,4 0,6 0,8 1,0
0,0

0,2

0,4

0,6

0,8

x

y

CIE 1931

400
450

475

490

495

500

505

510

515
520

525

550

575

600

625
700

495c,E
500c,E

510c,E
525c,E

550c,E
565c,E

TSSm

Be

Mλ=Sλ

V’
Vλ=Sλ

Ge

Yλ=Bλ

Mm

Vm
Lm

Ye

Re

PL

DM

P60

BE120−2A_1

For any colour, YW=100, P60
[max (m) chromatic value?], 
chromaticity diagram (a0, b0)
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BE120−3A_1

For any colour, YW=100, P60
[max (m) chromatic value?], 
chromaticity diagram (a1, b1)
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BE120−4A_1

For any colour, YW=100, P60
[max (m) chromatic value?], 
chromaticity diagram (a2, b2)
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BE120−5A_1

For any colour, YW=100, P60
[max (m) chromatic value?], 
chromaticity diagram (a3, b3)
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BE120−6A_1

For any colour, YW=100, P60
[max (m) chromatic value?], 
chromaticity diagram (a4, b4)
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BE120−7A_1

For any colour, YW=100, P60
[max (m) chromatic value?], 
chromaticity diagram (a5, b5)
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BE120−8A_1

For any colour, YW=100, P60
[max (m) chromatic value?], 
chromaticity diagram (a6, b6)
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BE121−1A_1

Munsell System, YW=100
C=2, V=1, 2, 5, 8 & 9, P60
in the chromaticity diagram (x, y)
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BE121−2A_1

Munsell System, YW=100
C=2, V=1, 2, 5, 8 & 9, P60
chroma (A*0, B*0)
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B0

Xw=97,06, Yw=99,99, Zw=104,57
xw=0,3218 yw=0,3315
A0 = (a0 − a0,n) Y18 (Y/Y18)1/3

B0 = (b0 − b0,n) Y18 (Y/Y18)1/3

a0 = a20 [x/y]
b0 = b20 [z/y]
a20 = 1,  b20 = −0,4

n = P60
P60

BE121−3A_1

Munsell System, YW=100
C=2, V=1, 2, 5, 8 & 9, P60
chroma (A*1, B*1)
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Xw=97,06, Yw=99,99, Zw=104,57
xw=0,3218 yw=0,3315
A1 = (a1 − a1,n) Y18 (Y/Y18)1/3

B1 = (b1 − b1,n) Y18 (Y/Y18)1/3

a1 = a20 [(x−0,171)/y]
b1 = b20 [z/y]
a20 = 1,  b20 = −0,4
mT1=1,000, bT1=0,171
n = P60

P60

BE121−4A_1

Munsell System, YW=100
C=2, V=1, 2, 5, 8 & 9, P60
chroma (A*2, B*2)
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B2

Xw=97,06, Yw=99,99, Zw=104,57
xw=0,3218 yw=0,3315
A2 = (a2 − a2,n) Y18 (Y/Y18)1/3

B2 = (b2 − b2,n) Y18 (Y/Y18)1/3

a2 = a20 [(x−0,171)/y]
b2=b20 [(mP1x+bP1)/y]
a20 = 1,  b20 = −0,4
mP1=−0,169, bP1=0,389
n = P60
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BE121−5A_1

Munsell System, YW=100
C=2, V=1, 2, 5, 8 & 9, P60
chroma (A*3, B*3)
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Xw=97,06, Yw=99,99, Zw=104,57
xw=0,3218 yw=0,3315
A3 = (a3 − a3,n) Y18 (Y/Y18)1/3

B3 = (b3 − b3,n) Y18 (Y/Y18)1/3

a3 = a20 [(x−0,171)/y]
b3=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−0,974, bD1=0,658
n = P60

P60

BE121−6A_1

Munsell System, YW=100
C=2, V=1, 2, 5, 8 & 9, P60
chroma (A*4, B*4)
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xw=0,3218 yw=0,3315
A4 = (a4 − a4,n) Y18 (Y/Y18)1/3

B4 = (b4 − b4,n) Y18 (Y/Y18)1/3

a4 = a20 [(x−0,171)/y]
b4=b20 [(mP1x+bP1)/y]
a20 = 1,  b20 = −0,4
mP1=−0,169, bP1=0,389
n = P60

P60

BE121−7A_1

Munsell System, YW=100
C=2, V=1, 2, 5, 8 & 9, P60
chroma (A*5, B*5)
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A5 = (a5 − a5,n) Y18 (Y/Y18)1/3

B5 = (b5 − b5,n) Y18 (Y/Y18)1/3

a5 = a20 [(x−0,171)/y]
b5=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−0,974, bD1=0,658
n = P60
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BE121−8A_1

Munsell System, YW=100
C=2, V=1, 2, 5, 8 & 9, P60
chroma (A*6, B*6)
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A6 = (a6 − a6,n) Y18 (Y/Y18)1/3

B6 = (b6 − b6,n) Y18 (Y/Y18)1/3

a6 = a20 [x/y]
b6=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−0,974, bD1=0,658
n = P60
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TUB-test chart BE12; CIE (x, y) and chroma (A*i, B*i)
Munsell Chroma=2, Value=1,2,5,8 &9 for CIE illuminant C; diagram for illuminant P60, Yw=100

input: w/rgb/cmyk −> rgb

http://farbe.li.tu-berlin.de/BE12/BE12.HTM0N1.TXT /.PS
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1
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